W and y
0.5

1.0

= 0.010(23) y = 0.938(75) => 0.938(75)

rm78 med(mad) ACBF

i I f |.| | |:|T|T|_| |||_|||_||_|_£|1|||||_L|_||1_|_I::|_||||||_|||||||:

f I N N L
MJ.L u.”

Ih“”»'llll“ W j|||||lUI

L;.i,.

JMH Jl.lé“uwm llkuhl.lu lu W ]JI ' Jj
l1|| |||||nrn AR ‘V”W Ny <
| || r||u |1||1'||*||] |||r1 1 |ﬂ|! F!Ill’ r ['mn|||m|" ,, FMﬂlwpml M“ m”” |fl ,||ﬂ|"||",.f

| S| .

L ‘M li’h*‘ i WWW ’H “W Wh\nm mmﬂn “*“\h"*m “'W'W “w *mw,.m HWHW‘ il (|
ﬂlw H’ ”i Hik ‘ilww-‘p NMW“W hﬁ Mu W\ Mhl WHMMMM\ o Y it iﬂ“}u\‘{h] ﬂ“nw* ,M' LH.'W {1} ui'x\ Ltk

I !

I|I[II|IIII|[III|IIII IIII|IIII|IIII|IIII|IIII|IIII|

5000 4000 o000 6000 000

5<—06.00

N (R) z = 0.26388



